
syncmag_vf_85: Field values on the coordinate axes
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syncmag_vf_85: Projected average values
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syncmag_vf_85: BX (kG) vs X (cm)
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syncmag_vf_85: BX (kG) vs Y (cm)
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syncmag_vf_85: BX (kG) vs Z (cm)
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syncmag_vf_85: BY (kG) vs X (cm)
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syncmag_vf_85: BY (kG) vs Y (cm)
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syncmag_vf_85: BY (kG) vs Z (cm)
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syncmag_vf_85: BZ (kG) vs X (cm)
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syncmag_vf_85: BZ (kG) vs Y (cm)
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syncmag_vf_85: BZ (kG) vs Z (cm)
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BX versus Z at X=0 and Y=0

syncmag_vf_85: BX Integrals
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First Integral of BX (Y=0)

syncmag_vf_85: BX Integrals
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First Integral of BX (X=0)

syncmag_vf_85: BX Integrals
16/01/29   10.08

Y (cm)

G
au

ss
-m

et
er

s

Second Integral of BX (X=0) Y (cm)

G
au

ss
-m

et
er

s2

-200

-175

-150

-125

-100

-75

-50

-25

0

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8

-0.035

-0.03

-0.025

-0.02

-0.015

-0.01

-0.005

0

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8



BY versus Z at X=0 and Y=0

syncmag_vf_85: BY Integrals
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First Integral of BY (Y=0)

syncmag_vf_85: BY Integrals
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First Integral of BY (X=0)

syncmag_vf_85: BY Integrals
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syncmag_vf_85: Field gradients on the coordinate axes
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syncmag_vf_85: Field gradients on the coordinate axes
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syncmag_vf_85: Field gradients on the coordinate axes
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syncmag_vf_85: Field gradients on the coordinate axes
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syncmag_vf_85: Field gradients on the coordinate axes
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